Name:

Date:

Teacher:

Class:

Subtraction 504

Why did the ostrich put a net over his head?
Because he wanted to catch his breath?

Subtract these numbers to find the total.

Some questions involve trading.

L 3,743 % 8,935 3 8,358 # 7,337 > 6,568 ¢ 4,897
- 2550 - 8,165 7,264 — 1,202 - 3,637 1,951
7 8,586 & 3,647 ¢ 3,491 10 6183 1 7781 12 1953
— 6,745 - 1,294 2,845 - 4855 - 2,318 1,772
13. 4645 14 3528 1> 8550 16 5222 17 7685 18 7877
— 1914 - 1,240 5493 - 3,427 - 2,623 2,014
9. 8971 20 6,339 2. 797322 5570 % 2567 % 2,663
— 5527 - 5,672 1,709 - 4,797 - 1,074 1,922
51,028 26 7,277 2" 2,494 28 7,204 2 1,725 % 9,836
— 821 - 6,505 702 — 4,145 - 577 2,787
L. 4778 %2 1,821 33 2242 3 6,760 3 9223 36 3047
— 552 —-1,085 859 - 3,028 - 7,252 2,162
3. 230238 3,432 3 5739 4 6,664
- 1,116 - 1,545 3,739 — 3,333
© Facilitators Ferriswheel WS#:Sub504 Score:



Answer Key

Date:

Teacher:

Class:

Subtraction 504

Why did the ostrich put a net over his head?
Because he wanted to catch his breath?

Subtract these numbers to find the total.

Some questions involve trading.

L 3,743 % 8,935 3 8,358 # 7,337 > 6,568 ¢ 4,897
- 2550 - 8,165 7,264 — 1,202 - 3,637 1,951
1,193 770 1,094 6,135 2,931 2,946
7 8,586 & 3,647 ¢ 3,491 10 6183 1 7781 12 1953
— 6,745 - 1,294 2,845 - 4855 - 2,318 1,772
1,841 2,353 646 1,328 5,463 181
13. 4645 14 3528 1> 8550 16 5222 17 7685 18 7877
- 1,914 - 1,240 5493 - 3427 - 2,623 2,014
2,731 2,288 3,057 1,795 5,062 5,863
9. 8971 20 6,339 2. 797322 5570 % 2567 % 2,663
— 5527 - 5,672 1,709 - 4,797 - 1,074 1,922
3,444 667 6,264 773 1,493 741
51,028 26 7,277 2" 2,494 28 7,204 2 1,725 % 9,836
— 821 - 6,505 702 — 4,145 - 577 2,787
207 72 1,792 3,059 1,148 7,049
3. 4,778 %2 1,821 3 2,242 3% 6,760 % 9,223 36 3,047
— 552 —-1,085 859 - 3,028 - 7,252 2,162
4,226 736 1,383 3,732 1,971 285
3. 230238 3,432 3 5739 4 6,664
- 1,116 - 1,545 3,739 — 3,333
1,186 1,887 2,000 3,331
© Facilitators Ferriswheel WS#:Sub504 Score:



